IF5264

IFB3004-BNOG/10m

5 2 E Wby - PR 8%

_18_ 35
24

|
\
I
Y

!

i
ol —
M12x1

_...
—

m

O

- !
—— [

q3

E R

HHEARET NPN

iy HH I g i P

T PR e [mm] 4
hhik WA Ak A
R~ [mm] M12x1/L=35
TAEER V] 18...36 DC
EIIAFE [mA] 15; (24 V)
I 7 S 4 I
AR 1
T NPN

iy HH Th B i Pl

B 48] i 1 DC 7 IR e e KA \Y| 2

BH it DCIFFE I Ak [mA] 200
B[4 5% DC [HZ] 400

i i P 5

BUE RPN 5

T g i [

TR B il [mm] 4
PRSI EFE Al St [mm] 4+10%
TAE B [mm] 0..3.25
LA S 1 RglsR: 0.7/ #4H: 0.4/45: 0.3/4H: 0.2
B [SritE 4 L] 1..15

i e Bl i 7 [SritE L] -10...10
T AR

BB IR [°C] -25...80

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — 3t {1 {5 59 A5 37 30 0111 5 SR AT 2 U RER] . — ZH-TW — IF5264-00 — 29.11.2006 — £



IF5264

IFB3004-BNOG/10m

AN A IP 67

et /A

EMCE il 7 EN 60947-5-2
EN 55011 A4 B

PR AR ART S

Hhik WA At A

w2 JE75 Vi e

R~ [mm] M12x1/L=35
IRAANEE M12 x 1

MHE TER SR PBT
HURSS /AR

R EIEENS 1x LED, #

LRRES
PR Ii] i B 2

A4 B 1P

GETRUEL

#H4: 10 m, PVC; 3 x 0.34 mm?
UL

BN

@"BKE

AR
BK = el
BN = g
BU = B

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — 3t {1 {5 59 A5 37 30 0111 5 SR AT 2 U RER] . — ZH-TW — IF5264-00 — 29.11.2006 — £



